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PART A: Grammar and Vocabulary

Dirfections: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct Y oSt 53 S Corloo 5
choice on your answer sheet.

Y o B ey

61- Ever since he was a little boy, his idea of a perfect day ... the entire time playing |['°Y ixio obLt)0 ixio

IR Smio oL 610 dmis

football with his cousins.
1) was spending 2) has spent
3) he spends 4) has been spending

62- Human beings can invent many extraordinary things if physics ... their need to design new
scientific experiments of matter and energy and the relationship between them.
1) meet 2) will meet

3) has met 4) meets

63- When my younger brother called and told me the news of his recent success, I ... expensive car.
1) was buying myself an 2) myself bought most
3) bought me the more 4) was buying me the

64- One thing I am ... is the fact that humans could never breathe underwater without recent advances
in technology.
1) satisfied with 2) certain about

3) available for 4) hospitable to

65- Thanks to modern medicine, the quality of life for those who suffer from diabetes or cancer has ...
improved over the last twenty years.

1) fluently 2) safely

3) rarely 4) greatly

66- To expand the business in future years, the company’s first action to take is ... a small market in
local areas.
1) measuring 2) creating

3) reflecting 4) receiving

67- It doesn’t require much ... to guess what happened after I broke my mother’s favorite vase in front

of her.
1) destination 2) addition
3) imagination 4) emotion

68- I agree that the new speed limit does not solve the problem, but it is an important ... in the right

direction.
1) step 2) ability
3) value 4) habit
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your
answer sheet.

For years, video games have been attacked for ...(69)... people more overweight or depressed. But
recently, researchers have discovered that these games can actually change us for the better and improve
both our body and mind. Video games can help to develop ...(70)... skills. Pre-school children who play
interactive video games have been shown to have improved motor skills; for example, they can kick, catch
and throw a ball ...(71)... children who don’t play video games. They also improve a variety of brain
functions, ...(72)... decision-making. People who play action-based video games make decisions 25
percent faster than others.

69- 1) they made of 2) making 3) them to make 4) to make
70- 1) domestic 2) physical 3) forbidden 4) energetic
71- 1) the best 2) as good as 3) better than 4) the best of
72- 1) including 2) dentifying 3) collecting 4) ranging

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

PASSEGE 1:
Everyone loves traveling, right? Unfortunately, depending on where you want to go, money can

sometimes be a problem, but not if you’re prepared. Here are three tips for making the most of your
travel experience, no matter how much you have in the bank!

Decide where you will go, based on your budget. The cost of your trip can depend mainly on the
countries and cities you want to visit. So, knowing the average costs in a country can help you plan and
decide the best option for your next trip. For example, countries like France, Italy, and the UK can be
pretty expensive to visit, so you’ll need more money for a holiday in these places. By contrast, Eastern
Europe, South-East Asia, and South America are cheaper. (In Poland, a three-course meal for two people
costs 100 zlotys — about £21!)

Look for discounts on major attractions. Obviously, when you’re traveling, you want to see everything
the country has to offer, especially the attractions which draw millions of people every year. But before
paying a fee to see these, you can research and see if it’s possible to see them for less. Many tourist
attractions have a student or youth discount, and some attractions are free for everyone on certain days,
like the Louvre Museum in Paris, which offers free entry on the first Sunday of every month.

73- What does the passage mainly discuss?

1) The relationship between economy and tourism
2) Ways to reduce the costs of traveling

3) Major attractions of different parts of the world
4) Why traveling is essential for everybody

74- The phrase “By contrast” in paragraph 2 is closest in meaning to ... .
1) similarly 2) therefore 3) but 4) besides

75- Why has the author mentioned “the Louvre Museum” in paragraph 3?
1) To introduce the topic of the next paragraph

2) To correct a wrong belief which was described in the previous sentence

3) To add more information and to support an earlier statement

4) To draw a conclusion from the whole passage
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76- What does the paragraph immediately following this passage most probably discuss?
1) The third tip on how to lower the costs of traveling
2) Another major tourist attraction
3) What the Louvre Museum looks like
4) Available discounts on major attractions in Paris

PASSEGE 2:
Humanity’s first efforts to systematize the concepts of size, shapes, and number are usually regarded as
the earliest mathematics. However, the concept of number and the counting process developed so long
before the time of recorded history (there is archaeological evidence that counting was employed by
humans as far back as 50,000 years ago). The argument that humans, even in prehistoric times, had some
number sense, at least to the extent of recognizing the concepts of more and less when some objects were
added to or taken away from a small group, seems fair because studies have shown that some animals
possess such a sense.

With the gradual evolution of society, simple counting became essential. A tribe had to know how many
members it had and how many enemies, and a shepherd needed to know if the flock of sheep was
decreasing in size. Probably the earliest way of keeping count was by some simple tally method,
employing the principle of one-to-one correspondence. In keeping count of sheep, for example, one finger
per sheep could be bent. Counts could also be maintained by making scratches in the dirt or on a stone,
by cutting notches in a piece of wood, or by tying knots in a string.

Then, perhaps later, a group of sounds was developed as a word tally against the number of objects in a
small group. And still later, with the refinement of writing, a set of signs was devised to stand for these
numbers. Such a development is supported by reports of anthropologists in their studies of present-day
societies that are thought to be similar to those of early humans.

77- What does the passage mainly discuss?

1) Similarities in number sense between animals and humans
2) The development of writing in ancient societies

3) The beginning of mathematics

4) How early humans took care of their animals

78- Why has the author mentioned animals at the end of the first paragraph?
1) To show that early humans kept animals

2) To emphasize that early humans had an ability to count

3) To illustrate that only humans can do activities like counting

4) To identify the abilities that animals might have

79- The pronoun “those” in paragraph 3 refers to ... .
1) anthropologists 2) studies
3) reports 4) societies

80- Which of the following conclusions is supported by the passage?

1) Counting processes did not develop until after writing became widespread.
2) Early counting methods required herds of animals.

3) Mathematics has remained unchanged since ancient times.

4) Early humans first counted because of necessity.
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Part A: Grammar

Directions: Questions 81-90 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

81-At this time yesterday, two of your old friends ... at the door to see you, but after finding out that
you weren’t home, they got in their cars and left.
1) had stood 2) were standing 3) stood 4) had been standing
82-My heart goes out to Jessica because she is so badly off that she can’t go on a foreign trip or even
get a compact car for ... after years of hard work.
1) herself 2) her own 3) her 4) by herself
83-Nowadays, many young people can’t make a living and aren’t independent ... their families. They
expect their parents to provide them with food, money, and housing.
1) on 2) from 3) of 4) in
84-In the past, a large number of newborn daughters ... to be shameful and their families used to
bury them alive.
1) considered 2) were considered
3) had considered 4) have been considered
85-We are praised as a generous family since the youngest of my brothers ... four million dollars so
far to the charity which helps homeless people.
1) donated 2) have donated 3) has donated 4) had donated
86-To show the new soldiers how to take a rifle apart and put it together again, the instructors go
through the whole process ... .

1) themselves 2) they themselves 3) itself 4) it itself
87-The police ... intentional, although they don’t know why someone purposely burned down the
library.
1) believe the fire is 2) believe the fire was
3) believes the fire is 4) believes the fire was

88-Think of a friend who has moved away but ... you have stayed in touch. In what ways do the two of
you communicate?
1) whom 2) who 3) with whom 4) with who
89-... the peace and quiet he needed to finish his book, the writer moved to a cabin where there were
no people, no cars, and not even a telephone.
1) Having 2) In order to have 3) Because 4) So as to having
90-1If you feel strongly about a public issue, don’t hesitate to write to your representative in Congress;
remember that he or she ... to speak for you.
1) elects 2) had elected 3) had been elected 4) is elected

Part B: Vocabulary

Directions: Questions 91-105 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

91-1 find it very hard to relax. Sometimes I lie awake all night long worrying about things. Actually, I
feel ... .
1) selfish 2) sensible 3) stubborn 4) anxious
92-She was one of the most ... students I have ever known. She didn’t obey any rules at school and
was a very difficult teenager to manage.
1) lethargic 2) dynamic 3) rebellious 4) patient
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93-1If you ask me about my colleague, Reza, I’ll say he is a/an ... person. He once said to me he wants
to be the manager of a big multinational company.

1) ambitious 2) independent 3) honest 4) friendly
94-... children are rude and behave badly because they are given everything they want.
1) Sociable 2) Spoiled 3) Insecure 4) Mature
95-Eating habits are becoming healthier, according to the results of a government ... .
1) scientist 2) measure 3) morale 4) survey
96-1t is argued that telecommunication has a significant social, cultural and economic ... on modern
society.
1) crisis 2) impact 3) factor 4) policy

97-During the sixth generation era, the handheld game console market ... with the introduction of
new devices from many different manufacturers.

1) shared 2) compiled 3) regarded 4) expanded
98-1t must be nice having someone who sticks around even when times get ... and you are feeling
down.
1) crucial 2) tough 3) brief 4) extra

99-He was guided by the belief that developing work ... was imperative for promoting skills such as
cooperation, communication, and problem solving.

1) ethics 2) miracles 3) margins 4) situations
100-After all, I speculate that she only takes your ... because she sees you as a kind-hearted person.
1) host 2) palm 3) step 4) side
101-In my opinion, the lecture delivered by Dr. James was really ... and difficult to follow.
1) significant 2) lucrative 3) complicated 4) harmonious
102-The links between terrorism and other forms of crime, especially organized ones, are not always ...
obvious.
1) immediately 2) gradually 3) namely 4) originally

103-Values are ... as transmitting a set of common ideas to all family members is becoming increasingly
difficult.
1) separated 2) capable 3) popular 4) endangered
104-The famous medical researcher believes that a serious need exists to bridge the gap between theory
and ... in nursing.
1) volume 2) benefit 3) practice 4) attitude
105-Remember that ... is better than cure, so brush your teeth at least twice a day and visit your
dentist for regular check-ups.
1) prevention 2) prediction 3) introduction 4) definition
Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct choice
on your answer sheet.
106-
1) He was such disappointed with the company’s culture to offer his resignation after only three weeks.
2) He was so disappointed with the company’s culture to offer his resignation only after three weeks.
3) He was so disappointed with the company’s culture that he offered his resignation after only three
weeks.
4) He was such disappointed with the company’s culture that he offered his resignation only after three
weeks.
107-
1) The rain was intermittent, fell heavily one minute and then ease up for a few minutes and even stopped
altogether.
2) The rain was intermittent, fell heavily one minute and then ease up for a little minutes and even
stopping altogether.
3) The rain was intermittent, falling heavily one minute and then easing up for a little minutes and even
stopped altogether.
4) The rain was intermittent, falling heavily one minute and then easing up for a few minutes and even
stopping altogether.
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108-
1) The Mexican government became oppressively the moment citizens began demanded more freedom,
after years of relatively beneficence.
2) After years of relative beneficence, the Mexican government became oppressive the moment citizens
began to demand more freedom.
3) At the moment citizens began to demand more freedom, after years of relative beneficence, the
Mexican government became oppressively.
4) Citizens began demanded more freedom, after years of relatively beneficence, and the Mexican
government became oppressive at that moment.
109-
1) The amount of sleep one receives each night affects one’s productivity the following day.
2) The amount of sleep that one receives each nights affects one’s productive the following day.
3) The amount of sleep one receives each nights affect one’s productive the following day.
4) The amount of sleep that one receives each night affect one’s productivity the following day.
110-
1) During class, the two students chatted incessantly, although the teacher has moved them to opposite
sides of the classroom.
2) The two students chatted incessantly during class, even after the teacher had moved them to opposite
sides of the classroom.
3) Even after the teacher has moved them to opposite sides of the classroom, the two of students chatted
incessantly during class.
4) Moving them to opposite sides of the classroom by the teacher, the two of students had been chatted

incessantly during class.

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by
choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

A: Nicole, do you know why Sara had a frown on her face last night and didn’t ...(111)... at all ?

B: Well, she hasn’t been on speaking terms with Elina for over two years. So, I think that’s why she
didn’t enjoy herself.

A: Oh! Sorry to hear that! But, I think they should forgive each other and ...(112)..., shouldn’t they?

B: ...(113)... ! Sara will never budge an inch. She’s like that.

111- 1) ring a bell 2) join the party
3) shell out 4) fool around
112- 1) look up 2) break up
3) show up 4) make up
113- 1) When hell freezes over 2) First come, first served
3) Every cloud has a silver lining 4) The tail is wagging the dog

A: Hey Mina! Long time no see! How are things? What have you been up to?

B: Hey Rob! Today, I took my last test, and I’m ...(114)... .

A: How come? I guess it was a chemistry test, right?

B: You hit the nail on the head! It was ...(115)... . Some terribly difficult questions had come up that
even the bookworms were all at sea and couldn’t solve them.

114- 1) all thumbs 2) down to earth
3) sick as a parrot 4) big headed

115- 1) heavy going 2) fair and square
3) all the rage 4) second to none
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116-
117-

118-

119-

120-

A: Hurry up Ron, we’re ...(116)... late. Grandma’s already waiting.

B: Give me a moment, I’ve not ...(117)... my hair yet.

1) making 2) running 3) turning 4) having

1) gotten 2) taken 3) done 4) paid

A: Would you like to increase the extent of your educational and historical background?

B: I don’t think I got your point ...(118)....

A: I just took my final exam in history this morning, and I’m trying to ...(119)... the books. You can
have them for eighty dollars.

B: I don’t think I’ll need them, but why don’t you try to ...(120)... to the bookstore instead?

1) all over 2) all in all
3) and all 4) at all
1) get out of 2) get rid of

3) run out of
1) give them up
3) take them in

4) bump into
2) throw them away
4) take them back

Part E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.

121-
122-
123-
124-
125-
126-
127-
128-
129-
130-
131-

132-
133-
134-
135-

Insects’ lives are very short and they have many enemies, ...(121)... they must survive long enough to
breed and perpetuate their kind. The ...(122)... insect-like they look, the better their chance of
survival. To look inedible by resembling or imitating plants is a deception ...(123)... by insects.
Mammals ...(124)... use this type of camouflage, but many invertebrates do.

The stick caterpillar is well named. It is hardly ...(125)... from a brown or green twig. This
caterpillar is quite common and can ...(126)... almost anywhere in North America. It is also called
“measuring worm” or “inchworm.” It walks by arching its body, then stretching out and grasping
the branch with its front feet, then looping its body again ...(127)... the hind feet forward. When
danger ...(128)..., the stick caterpillar stretches its body away from the branch at an angle and
remains rigid and still, like a twig, until the danger has passed.

Walking sticks, or stick insects, do not have to ...(129)... a rigid, twig-like pose to find protection;
they look like inedible twigs in any position. There are many kinds of walking sticks, ranging in size
from the few inches of the North American variety ...(130)... some tropical species that may be over
a foot long. When at rest, their front legs are stretched out, ...(131)... . Some of the tropical species
are adorned with spines or ridges, imitating the thorny bushes or trees ...(132)... they live. Leaves
also seem to be a favorite ...(133)... for insects to imitate. Many butterflies can suddenly ...(134)...
from view by folding their wings and sitting quietly among the foliage that ...(135)....

1) for 2) but 3) so 4) or

1) less 2) least 3) little 4) most

1) practicing 2) is practiced 3) which practiced 4) practiced
1) rarely 2) widely 3) constantly 4) suddenly
1) negligible 2) plausible 3) distinguishable 4) portable
1) found 2) be found 3) be founded 4) find

1) to bringing 2) and bring 3) to bring 4) bringing
1) converts 2) consumes 3) reduces 4) threatens
1) increase 2) permeate 3) illustrate 4) assume
1) to 2) with 3)in 4) on

1) their camouflage heightens
3) their heightening camouflage

2) heightening their camouflage

4) camouflage their height

1) in which 2) which 3) what 4) that

1) situation 2) ambit 3) object 4) prey

1) learn 2) disappear 3) enjoy 4) escape

1) had resembled 2) resembles 3) resembled 4) they resemble
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Part F: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by some questions. Answer the
guestions about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

PASSAGE 1.

By the mid-nineteenth century, the term “icebox” had entered the American language, but ice was
still only beginning to affect the diet of ordinary citizens in the United States. The ice trade grew with
the growth of cities. Ice was used in hotels, taverns, hospitals, and by some forward-looking city
dealers in fresh meat, fresh fish, and butter. After the Civil War (1861-1865), as ice was used to
refrigerate freight cars, it also came into household use. Even before 1880, half the ice sold in New
York, Philadelphia, and Baltimore, and one-third of that sold in Boston and Chicago, went to
families for their own use. This had become possible because a new household convenience, the
icebox, a precursor of the modern refrigerator, had been invented.

Making an efficient icebox was not as easy as we might now suppose. In the early nineteenth
century, the knowledge of the physics of heat, which was essential to the science of refrigeration, was
rudimentary. The commonsense notion that the best icebox was one that prevented the ice from
melting was mistaken, for it was the melting of the ice that performed the cooling. Nevertheless, early
efforts to economize ice included wrapping the ice in blankets, which kept from doing its job. Not
until near the end of the nineteenth century did inventors achieve the delicate balance of insulation
and circulation needed for an efficient icebox.

But as early as 1803, an ingenious Maryland farmer, Thomas Moore, had been on the right track.
He owned a farm about twenty miles outside the city of Washington, for which the village of
Georgetown was the market center. When he used an icebox of his own design to transport his butter
to market, he found that customers would pass up the rapidly melting stuff in the tubs of his
competitors to pay a premium price for his butter, still fresh and hard in neat, one-pound bricks.
One advantage of his icebox, Moore explained, was that farmers would no longer have to travel to
market at night in order to keep their produce cool.

136-What does the passage mainly discuss?
1) The influence of ice on the diet
2) The development of refrigeration
3) The transportation of goods to market
4) Sources of ice in the nineteenth century
137-According to the passage, when did the word “icebox” become part of the language of the United

States?
1) In 1803 2) Sometime before 1850
3) During the Civil War 4) Near the end of nineteenth century

138-The author mentions fish in paragraph 1 because ... .
1) many fish dealers also sold ice
2) fish was shipped in refrigerated freight cars
3) fish dealers were among the early commercial users of ice
4) fish was not part of the ordinary person’s diet before the invention of the icebox
139-The word “it” in paragraph 1 refers to ... .
1) fresh meat 2) the Civil War
3)ice 4) a refrigerator
140- According to the passage, which of the following was an obstacle to the development of the icebox?
1) Competitions among the owners of refrigerated freight cars
2) The lack of a network for the distribution of ice
3) The use of insufficient insulation
4) Inadequate understanding of physics
141-The phrase “rudimentary” in paragraph 2 is closest in meaning to ... .
1) growing 2) undeveloped
3) necessary 4) uninteresting
142- According to the information in the second paragraph, an ideal icebox would ... .
1) completely prevent ice from melting
2) stop air from circulating
3) allow ice to melt slowly
4) use blankets to conserve ice
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143-The author describes Thomas Moore as having been “on the right track” to indicate that ... .
1) the road to the market passed close to Moore’s farm
2) Moore was an honest merchant
3) Moore was a prosperous farmer
4) Moore’s design was fairly successful
144-According to the passage, Moore’s icebox allowed him to ... .
1) charge more for his butter
2) travel to market at night
3) manufacture butter more quickly
4) produce ice all year round
PASSAGE 2
The history of clinical nutrition, or the study of the relationship between health and how the body
takes in and uses food substances, can be divided into four distinct eras: the first began in the
nineteenth century and extended into the early twentieth century when it was recognized for the first
time that food contained constituents that were essential for human function and that different foods
provided different amounts of these essential agents. Near the end of this era, research studies
demonstrated that rapid weight loss was associated with nitrogen imbalance and could only be
rectified by providing adequate dietary protein associated with certain foods.

The second era began in the early decades of the twentieth century and might be called “the
vitamin period.” Vitamins came to be recognized in foods, and deficiency syndromes were described.
As vitamins became recognized as essential food constituents necessary for health, it became
tempting to suggest that every disease and condition for which there had been no previous effective
treatment might be responsive to vitamin therapy. At that point in time, medical schools started to
become more interested in having their curricula integrate nutritional concepts into the basic
sciences. Much of the focus of this education was on the recognition of vitamin deficiency symptoms.
Herein lay the beginning of what finally turned from ignorance to denial of the value of nutritional
therapies in medicine. Reckless claims were made for effects of vitamins that went far beyond what
could actually be achieved from the use of them.

In the third era of nutritional history in the early 1950s to mid-1960s, vitamin therapy began to fall
into disrepute. Related to this, nutrition education in medical schools also became less popular. It was
just a decade before this that many drug companies had found their vitamin sales rapidly increasing
and were quick to supply practicing physicians with generous samples of vitamins and literature
praising the virtue of supplementation for a variety of health-related conditions. Expectations as to the
success of vitamins in disease control were exaggerated. As is known in retrospect, vitamin and mineral
therapies are much less effective when applied to health-crisis conditions than when applied to long-
term problems of malnutrition that lead to chronic health problems.

145-What does the passage mainly discuss?
1) The effects of vitamins on the human body
2) The history of food preferences from the nineteenth century to the present
3) The stages of development of clinical nutrition as a field of study
4) Nutritional practices of the nineteenth century

146-1t can be inferred from the passage that medical schools began to teach concepts of nutrition in

order to ... .

1) convince doctors to participate in research studies on nutrition
2) encourage doctors to apply concepts of nutrition in the treatment of disease
3) convince doctors to conduct experimental vitamin therapies on their patients
4) support the creation of artificial vitamins

147-The word “tempting” in paragraph 2 is closest in meaning to ... .

1) necessary 2) attractive 3) realistic 4) correct
148-The pronoun “them” in paragraph 2 refers to ... .
1) therapies 2) claims 3) effects 4) vitamins

149-Why did vitamin therapy begin losing favor in the 1950s?

1) The public lost interest in vitamins.

2) Medical schools stopped teaching nutritional concepts.

3) Nutritional research was of poor quality.

4) Claims for the effectiveness of vitamin therapy were seen to be exaggerated.
150-The paragraph following the passage most probably discusses ... .

1) problems associated with undernutrition

2) the fourth era of nutrition history

3) why nutrition education lost its appeal

4) how drug companies became successful
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